RE>FATFYITT7YToO—F I—Q [EILHER

( YRARC H(»BC Y&HE( () KA

1 ROBIAFEXEMHEESLES,

x—y=5 @ 4x+7y=-1
2x+y=1 3x-2y=-8
6x+5y =16 @ y=2x+1
Sx+2y=9 3x+2y=9
{3(2x—y)=4x+5 . x+2y=10
3 1
0.3x+08y=-3 —x——y=2
y 4 3)’
=LA N - -
& BELELS
£<TEELE = /8

6 = S5mRUE | 4RLTF

/6




R SFRTYTTYTo—F I-Q EixAER
( YARC H(YBC HY&HFE(C )#H KA )
1 ROEIFEREBELSILN,
x—y=5-() 4x+T7y=-1---(1)
2x+y=1---(2) 3x-2y=-8---(2)
(1)+2) x =2 EQ)ITRA D)% 2+2)x 7 x =2 %1)IKA
x—y=5 4+y=1 8x +14y = —2 -8+7y=-1
+) 2x+y=1 y=1-4 +) 21x —14y =-56 Ty=-1+38
3x =6 y=-3 20y _ 53 Ty =1
x=2 x=-2 y=1
x=2  y=-3 x=-2  y=1
6x+5y=16---(1) y=2x+1---(1)
5x+2y=9---(2) 3x+2y=9---(2)
(1)x 5+2)x 6 y=2%D)I<fA WZEQITRAT S x=1%1)ITHRA
30x+25y =80 6x+10=16 3x+2(2x+1)=9 y=2+1
—) 30x+12y =54 6x=16-10 3x+4x+2=9 y=3
13y =26 6x =6 Tx =17
y=2 .le _x:l
=1 y=2 x=1 y=3

32x—y)=4x+5---(1)
03x+0.8y=-3---(2)

H&Y
6x—3y=4x+5
2x-3y=5---(3)
2)x 10

()% 8+(4)% 3
16x—24y =40
+)  9x+24y=-90

3x+8y=-30---(4) 25x =750
x=-2

x=-2%@IKA

—6+8y=-30

8y = 24

x=-2 y=-3 y=-3
A A~ - -
sCergLe | B BEELES
6 II£\\ 5 II\\DJL 4 Ilﬁ“u-lt

x+2y=10---(1)

2)x12
3 1
—xx12 ——yx12 =2x12
4 3

I9x —4y =124 ...(3)

(1)<2 +(3) x =4 ZD)I<fA
2x+4y =20 4+2y=10
+) 9x—dy =24 2y=6
1lx =44 y=3
x=4 x=4 y=3
A=
ﬁll\\
/6







